Celtic Wings Shawl

It is quite simple tricolor shawl knitting, it is triangular, its edges
perpendicularly and then knit independently of the other. It will
appreciate a solid color or very slightly nuanced. It can of course be
done in a single color or a color for the body and another for edges.

Size :190 / 95cm
Material :

Color 1: 4 balls of Céleste Cheval Blanc color Noir

Color 2: 3 balls of Céleste Cheval Blanc color Rubis

Color 3 : 3 balls of Céleste Cheval Blanc color Jaune

Circular needles 6mm, needles 6mm.
A cable needle

2 Stitch markers, a row counter.

Points and abbreviations:
st: stitch

k: knit

p: purl

Yo: yarn over

m1r : make one stitch to the right.

m1l : make one stitch to the left

M : stitch marker
K2tog : knit 2 together

K2tog: knit 2 together : the first stitch belongs to the edge and the second body of the wrap, which
knit together these two parts.

P2tog : purl 2 together : the first stitch belongs to the edge and the second body of the wrap, which
knit together these two parts.

S2KP : Slip 2 knitwise, knit 1, pass over the 2 knitwise stitches .
K3tog : knit 3 together

(... ..) X... - work sts indicated in () as many times as is indicated after x ....

T1 on 4 st. : slip 2 st. to cable needle and hold to back, k2, k2 from cable needle .

T2 on 4 st. : slip 2 st. to cable needle and hold to front, k2, k2 from cable needle .
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T3 : on 8st : slip 4 st. to cable needle and hold to back, k4, k4 from cable needle .
T4 : on 8st : slip 4 st. to cable needle and hold to front, k4, k4 from cable needle .
T5 : on 6st : slip 3 st. to cable needle and hold to back, k3, k3 from cable needle

T6 : on 6st : slip 3 st. to cable needle and hold to front, k3, take back to the left needle the 3
stitches of the cable needle and k2, knit the third one with the stitch of the edge by doing a K2tog.

T7 :on 6 st: slip 3 st. to cable needle and hold to front, k3, k3 from cable needle
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Work :

Note : knit all the threads double for the shawil.

Body of the shawl :

In color 1, cast on 3 stitches. Knit 6 rows (but not turn the work after the last row). Make a rotation
of the work of 90 ° and knit 3 stitches along the side of your strip of knitting, one in each garter
ridge (we obtain 6 stitches). Make again a rotation of 90 ° of your work clockwise, knit 3 stitches in

the row of assembly. We obtain 9 stitches.

Row 1 : k3, Yo, k1, m1r, M, k1, M, m1l, k1, Yo, k3
Row 2 : k3, purl all the stitches and finish with k3.

Row 3 : 3md, Yo, knit stitches until the first stitch marker, before this first marker m1r, M, k1, M,
m11,knit the following sts and prior to the last 3 sts, make 1 YO and knit the last 3 sts.

Row 4 : k3, purl all the stitches and finish with k3.

Repeat rows 3 and 4 until you have 185 stitches:

Chale Celtic Wings- number of stitches
row 1 |3 |57 19 [ 1113|1517 |19 |21 |23 |25

stitches| 13 |17 |21 |25|29 |33 |37 |41 |45 |49 | 53| 57 | 61
row 27 12931333537 |139|41 |43 |45 |47 |49 | 51
stitches| 65 |69 |73 |77 |81 |85|89 |93 |97 [101/105/109|113
row 53 | 55|57 59|61 |63 65|67 |69 |71 |73 |75 |77
stitches| 117 [121(125|129(133|137(141|145/149|153 157|161 165
row 79 | 818385 |87
stitches| 169 |173(177|181|185

Make the row 88 as row 4.

Row 89 : knit 89 stitches, bind off 5 stitches (two stitches before the central st, the central st and 2
that follow), knit all the stitches.

Right edge :

With color 2, cast on 35 sts on needle (on which the body of the shawl, your shawl is on the right
side of the work).

Then:
Row 1: k34,K2tog.
Row 2: k35
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Row 3: k34,K2tog.

Row 4: k35

Then start the pattern:

Row 1:T1, k3, p1, k14, (p1, k1) x2, T5, k2, K2tog.
Rows 2, 4, 6 and 8: p9, (k1, p1) x2, k1, p12, k1, p1, k1, p6.
Row 3: k2, T2, k1, p1, k5, T4, (k1, p1) x2, k9, K2tog.
Row 5: T1, k3, p1, k14, (p1, k1) x2, k3, T6

Row 7: k2, T2, k1, p1, k1, T3, k5, (p1, k1) x2, k8, K2tog.
Repeat these 8 rows, a total of 22 times.

Then:

Row 1:T1, k3, p1, k14, (p1, k1) x2, T5,1S2KP.

Row 2: p7, (k1, p1) x2, k1, p12, k1, p1, k1, p6.

Row 3: k2, T2, k1, p1, k5, T4, (k1, p1) x2, 5md, 1S2KP.
Row 4: p5, (k1, p1) x2, k1, p12, k1, p1, k1, p6.

Row 5: T1, k3, p1, k14, (p1, k1) x2, k3, 1S2KP.

Row 6: p3, (k1, p1) x2, k1, p12, k1, p1, k1, p6.

Row 7: k2, T2, k1, p1, k1, T3, k5, (p1, k1) x2,1S2KP.
Row 8: (p1, k1) x3, p12, k1, p1, k1, p6.

Row 9: T1, k3, p1, k14, p1, k1, 1S2KP.

Row 10: (p1, k1) x2, p12, k1, p1, k1, p6.

Row 11: k2, T2, k1, p1, k5, T4, k1, 1S2KP.

Row 12: p14, k1, p1, k1, p6.

Row 13: T1, k3, p1, k12, 1S2KP.

Row 14: p12, k1, p1, k1, p6.

Row 15 : k2, T2, k1, p1, k1, T3,k1, 1S2KP.

Row 16: p10, k1, p1, k1, p6.

Row 17: T1, k3, p1, k8, 1S2KP.

Row 18: p8, k1, p1, k1, p6.

Row 19: k2, T2, k1, p1, k6, 1S2KP.

Row 20: p6, k1, p1, k1, p6.

Row 21: T1, k3, p1, k4, 1S2KP.
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R22: p4, k1, p1, k1, p6.

Row 23:k2, T2, k1, p1, k2, 1S2KP.
Row 24: p2, k1, p1, k1, p6.

Row 25: T1, k3, p1, 1S2KP.

Row 26 : p2, k1, p6.

Row 27 : k2, T2, 1S2KP.

Row 28 : p7

Row 29 : 1S2KP, k1, K3tog.

Row 30 : p3

Row 31: 1S2KP and pass the thread through the remaining stitch to close this part.
Left edge :

With color 3, cast on 35 stitches on the straight needle, then make knit the first row with the
circular knitting needle on which is mounted the body of the shawl.

Row 2 : k34, P2tog.

Row 3 : k35

Row 4 : k34, P2tog.

Then start the pattern:

Row 1 (Right side row) : k3, T7, (k1, p1) x2, k14, p1, k3, T2.
Rows 2, 4, 6 and 8 (wrong side row) : p6, k1, p1, k1, p12, (k1, p1) x2, k1, p8, P2tog.
Row 3: k10, (p1, k1) x2, T3, k5, p1, k1, T1, k2.

Row 5:T5, k4, (p1, k1) x2, k13, p1, k3, T2.

Row 7 :k10, (p1, k1) x2, k4, T4, k1, p1, k1, T1, k2.

Repeat these 8 rows, a total of 22 times.

Then:

Row 1 (right side row) : 1S2KP, T7, (k1, p1) x2, k14, p1, k3, T2.
Row 2: p6, k1, p1, k1, p12, (k1, p1) x2, k1, p7.

Row 3: 1S2KP,k4, (p1, k1) x2, T3, k5, p1, k1, T1, k2.

Row 4 : p6, k1, p1, k1, p12, (k1, p1) x2, k1, p5.

Row 5: 1S2KP, k3, (p1, k1) x2, k13, p1, k3, T2.

Row 6: p6, k1, p1, k1, p12, (k1, p1) x2, k1, p3.

Row 7 : 1S2KP,k1, (p1, k1) x2, k4, T4, k1, p1, k1, T1, k2.
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Row 8: p6, k1, p1, k1, p12, (k1, p1) x3.
Row 9: 1S2KP k1, p1, k14, p1, k3, T2.
Row 10: p6, k1, p1, k1, p12, (k1, p1) x2.
Row 11 :1S2KP, k1, T3, k5, p1, k1, T1,k 2.
Row 12: p6, k1, p1, k1, p12,k1, p1.

Row 13: 1S2KP, k12, p1, k3, T2.

Row 14: p6, k1, p1, k1, p12.

Row 15: 1S2KP, k1, T4, k1, p1, k1, T1, k2.
Row 16: p6, k1, p1, k1, p10.

Row 17: 1S2KP, k8,p1, k3, T2.

Row 18: p6, k1, p1, k1, p8.

Row 19: 1S2KP, k6, p1, k1, T1, k2.

Row 20: p6, k1, p1, k1, p6.

Row 21: 1S2KP, k4, p1, k3, T2.

Row 22: p6, k1, p1, k1, p4.

Row 23: 1S2KP, k2, p1, k1, T1, k2.

Row 24: p6, k1, p1, k1, p2.

Row 25: 1S2KP,p1, k3, T2.

Row 26: p6, k1, p2.

Row 27: 1S2KP, T1,k2.

Row 28: p7.

Row 29:1S2KP, k1, K3tog.

Row 31: 1S2KP. pass the thread through the remaining stitch to close this part.

Bring in the threads, wash and block the shawl, for blocking, respecting the triangular shape of the
base and cross the spikes. Cut the threads short.

This model and shawls made by the latfer are infended for strictly personal and non-commercial use without the
prior written consent of the author.
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